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SRV S Y

(1) & % % % B
RIS B AR5 DR DR A TR T, R1OLBIThHS,
Ee, A R ORNEBSORERIHRORBIL, R20L50Th5,
£1 WEFEAL S ERONS :
SN
= 5 ] = R FRIRS -
B R —— — — % B K
EOpE — RS |ENEGHE| F B & D ORA RS
R 254F JE 804,790 649,441 155,349 - 60 13,413
26 803,420 648,797 154,623 - 60 13,390
27 797,136 641,691 155,445 - 60 13,286
28 796,804 641,958 154,846 - 60 13,280
29 796,932 641,958 154,974 - 60 13,282
30 796,993 641,963 155,030 - 60 13,283
S FITCAEE 797,160 642,130 155,030 - 60 13,286
2 797,059 642,029 155,030 - 60 13,284
(TE) IR R B ROR Bl ARV
K2 WEHAL BSEE RO -
m
B B B B AN i B 5
o Bk )~ - 2 o] A e e e O i
7 b 85.4 13.4 1.2 22.7 75.8 1.5
TRRZHAEE 554,430 87,216 7,795 35,302 117,725 2,322
% 85.5 13.4 1.1 22.8 76.2 1.0
554,430 87,129 7,238 35,302 117,749 1,672
07 85.3 13.6 1.1 22.7 76.3 1.0
547,261 87,192 7,238 35,302 118,571 1,672
08 85.2 13.6 1.1 22.8 76.6 0.6
547,261 87,459 7,238 35,302 118,571 973
929 85.2 13.6 1.1 22.8 76.6 0.6
547,261 87,459 7,238 35,302 118,699 973
30 85.2 13.6 1.1 22.8 76.6 0.7
547,261 87,464 7,238 35,302 118,699 1,029
A = 85.3 13.6 1.1 22.8 76.6 0.7
AT 547,448 87,444 7,238 35,302 118,699 1,029
9 85.3 13.6 1.1 22.8 76.6 0.7
547,429 87,424 7,176 35,302 118,699 1,029
) CEORIETEN K5y = EOME % (%) Chob,
(2) ERIEAR )
254 B U513 DR DR RO HERS T, R3O LB ThHS,
Fo, Bt BINEEIE K O R B OIS EROMERIL, R40LEIThHD,
£3 SRR A TR O HERS 2
ECN)
< = R ERIRS /-
B & T B — — ¥ K K
i . lomk s |Reans| 5 ow o 0 0> (A TR
SRR 255 96,548 81,703 7,969 6,876 14 6,896
26 95,544 81,197 7,969 6,378 14 6,825
27 95,598 81,251 7,969 6,378 14 6,828
28 106,165 90,494 9,293 6,378 15 7,078
29 106,165 90,494 9,293 6,378 15 7,078
30 106,169 90,498 9,293 6,378 15 7,078
SRR 106,169 90,498 9,293 6,378 15 7,078
2 106,212 90,541 9,293 6,378 15 7,081
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K4 FRRISER AR A G R OHER

(m)
X % i & BN E B 5 #F 18 &
E O s -b| gz omE| R G |smeoo-ss|ser-zoms| K& g g zoms| K &
7 89.8 10.1 0.1 12.5 875 — 96.4 3.3 0.3
PRZHAEIL 73,387 8,276 40| 1,000[ 6,969 — 6,628 229 19
26 90.4 9.6 0.1 12.5 875 — 96.1 3.6 0.3
73,387 7,775 40| 1,000[ 6,969 — 6,130 229 19
97 90.3 9.6 0.1 12.5 875 — 96.1 3.6 0.3
73,382| 7,829 40| 1,000[ 6,969 — 6,130 229 19
08 90.3 9.1 0.1 10.8 89.2| — 96.1 3.6 0.3
82,251 8,203 40| 1,000[ 8,293 — 6,130 229 19
99 90.9 9.1 0.1 10.8 89.2| — 96.1 3.6 0.3
82,251 8,203 40| 1,000( 8,293 — 6,130 229 19
30 90.9 9.1 0.1 10.8 89.2| — 96.1 3.6 0.3
82,251 8,207 40| 1,000[ 8,293 — 6,130 229 19
e — 90.9 9.1 0.1 10.8 89.2| — 96.1 3.6 0.3
AT 82,251 8,207 40| 1,000[ 8,293 — 6,130 229 19
5 90.9 9.1 0.1 10.8 89.2| — 96.1 3.6 0.3
82,294 8,207 40 1,000 8,293 — 6,130 229 19
(7£) BB DB T EDIX 75 = EOREE LR (%) ThD,
2 % M FE
1) m%EFRKR
R 254 B AR IZ 31 T A HLEFE D HERS X, RED LB THD,
5 mEHEFRBHMEAEOHER
_(nd, )
| . = S Y
R H - L i EREUE2
g 2y Bt [ o eon] f Ho s |
ERk254ERE | 4,964,667 1,617,439] 1,687,328 1,631,619 28,281  1,307,084|62| 80,075
26 4,922,502| 1,577,183| 1,686,102| 1,630,936 28,281 1,213,788[60| 82,042
27 4,922,318 1,577,479| 1,686,102| 1,630,456 28,281 1,213,788/ 60| 82,039
28 4,924,743 1,577,479| 1,688,074 1,632,845 26,345| 1,213,788/ 60| 82,079
29 4,924,061 1,577,479| 1,688,074 1,632,163 26,345| 1,184,036[60| 82,068
30 4,924,085 1,577,479| 1,689,014 1,632,187 25,405| 1,184,036[60| 82,068
AFnociERE | 4,857,747| 1,577,097| 1,688,835| 1,566,410 25,405|  1,080,777|60| 80,962
2 4,856,971 1,576,998| 1,687,321 1,565,972 26,680 997,600( 60| 80,950
CEE= 1 UdEON ] T Ee = (RN
(2) FERIBEEAR
R 254 B AR IZ 3 T A HLEFE D HERS 1, 6D LBV THD,
76 Rl SR PR I RS O HER
_(nd, )
=7 | e . = b || o
K9 H - L i EREUE2
g 2y Bt [ o eon] Mo s |
% 254 336,937 207,644 84,263 31,324 13,706 — 14| 24,067
26 336,610| 207,644 84,263 30,872 13,831 — 14| 24,044
27 336,610| 207,644 84,263 30,872 13,831 — 14| 24,044
28 354,599 219,339 90,183 31,246 13,831 — 15| 23,640
29 354,392 219,339 90,022 31,200 13,831 — 15| 23,626
30 354,392 219,339 90,022 31,200 13,831 — 15| 23,626
A FnICAE i 354,392 219,339 90,022 31,200 13,831 — 15| 23,626
2 356,337| 219,339 90,019 31,199 15,780 — 15| 23,756
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